FlexGuard

FlexGuard

Installation Guide




FlexGuard

FlexGuard Sentinel SL130/SL168 1
FlexGuard Sentinel SL190 5
FlexGuard High-Safe HS130 9
FlexGuard High-Safe HS168 14
FlexGuard Mid-Safe MS130 20
FlexGuard Mid-Safe MS168 25
FlexGuard Low-Safe LS130 31
FlexGuard Low-Safe L5168 36
FlexGuard Anchor AC110 42
FlexGuard Anchor AC190 48
FlexGuard Dockgate DG168 54

FlexGuard Armor ARS0/AR100 62




FlexGuard

SL130 / SL168
FLEXGUARD SENTINEL




FlexGuard Sentinel — SL130 / SL168

1. Tools Required

Hammer Drill (®16mm) Impact Driver(16mm) Vacuum Cleaner
5 _-"‘;.1}
i ] F?‘A/‘
e
v

Torque wrench (16mm) Hammer Tape Measure Marker

2. Components

4X




FlexGuard Sentinel — SL130 / SL168

3. Installation

S

®16mm

@”

Depthznllomm

LT}

N\

250Nm




FlexGuard Sentinel — SL130 / SL168

4. Dimensions

4.1 FlexGuard Sentinel SL130

Dimensions (mm)

1150

" Industrial door —

75

- 0130————

Impact Zane
0-1.15m hcigfltl

Rated Impact Energy : 3000 Joule
Rated warking ang an”

Colour: RAL 1003, Signal yellow
Ball : 8.8 grade M10 Expansion Bolt

Dimensions (mm)

1150

[ Industrial door

2168

Industrial door

mpact Zone
0-1.15m height|

Rated Impact Energy : 3600 Joule
Rated working angle : 90°

Colour: KAL 1003, Signal vellow
Bolt : 8.8 grade M10 Expansion Bolt




FlexGuard

SL190
FLEXGUARD SENTINEL




FlexGuard Sentinel — SL190

1. Tools Required

Hammer Drill (®18mm) Impact Driver(18mm)

&)

Torque wrench (18mm) Hammer Tape Measure Marker

4X




FlexGuard Sentinel — SL190

3. Installation

®18mm

@”

Depth2°130mm

LT

N\

>80NmM




FlexGuard Sentinel — SL190

4. Dimensions

Dimensions (mm)

[ Industrial door

Impact Zone
0-1.16 m height

- @100

1160

Rated Impact Energy : 6900 Joule
Rated working angle : 80°

Colour : RAL 1003, Signal yeliow
Bolt: 8.8 grade M12 Expansion Bolt




FlexGuard

HS130
FLEXGUARD HI-SAFE




FlexGuard High-safe — HS130

1. Tools Required

Hammer Drill (®16mm)  Impact Driver(16mm) Vacuum Cleaner  Torque wrench (16mm)

Rubber Mallet Hammer Tape Measure Marker

Allen Key (6mm)

=

JI

R

s

\

2X 3X 2X 6X 6X
=
(’:* )
\\:///

2X 6X 6X 6X 8X

10



FlexGuard High-safe — HS130

3. Assemble

RS

Turn the rail over

Same Steps

Other side

A

: &
L ( g
K\\‘\@\_ T
J e
o
I

11



FlexGuard High-safe — HS130

4. Installation

l

d16mm

&o

Depth2110mm




FlexGuard High-safe — HS130

250Nm

5. Dimensions

8
8 2130
T
3
n
- ——————— ). |

-Impact Zone 21000

Dimensions (mm)

0.45- 1.1 m height

Rated Impact Energy : 8100 Joule
Rated working angle : 46°

Post : RAL 8006, Jet black

Rall: RAL 1003, Signal yellow

Bolt: 8.8 grade M10 Expansion Bolt

BASE 1:6

13




FlexGuard

14



FlexGuard High-safe - HS168

1. Tools Required

Hammer Drill (®16mm)  Impact Driver(16mm) Vacuum Cleaner  Torque wrench (16mm)

Rubber Mallet Hammer Tape Measure Marker Allen Key (6mm)

connector

15



FlexGuard High-safe - HS168

3. Assemble

|-
© ooonoony

0000,

-—

@ |

16



FlexGuard High-safe - HS168

TR/

17




FlexGuard High-safe - HS168

®16mm

Depth2110mm

B\

250Nm

18




FlexGuard High-safe - HS168

4. Dimensions

Dimensions (mm)

2100
2148

2168 _\mpact Zone 21000
— 0.226 - 1.1 m height

I p

1160

! Rated Impact Energy : 14400 Joule
Rated working angle : 45"

Post : RAL 9005, Jet black

Rall: RAL 1003, Signal yellow
Bolt: 8.8 grade M10 Expansion Bolt

21000

19



FlexGuard

MS130
FLEXGUARD MID-SAFE

—

20



FlexGuard Mid-safe — MS130

1. Tools Required

Hammer Drill (®16mm)  Impact Driver(16mm) Vacuum Cleaner  Torque wrench (16mm)

Rubber Mallet Hammer Tape Measure Marker Allen Key (6mm)

&

2X 4X 4xX 4x

21



FlexGuard Mid-safe — MS130

3. Assemble

Same Steps

Other side

22




FlexGuard Mid-safe — MS130

- @

- l .‘"- ) — ] n
\J | T (] W | i

4. Installation

gl

yd

—

I
d16mm

°
3

Depth2110mm

23



FlexGuard Mid-safe — MS130

250Nm

5. Dimensions

2100

2130

600

~Impact Zone 2250
0.35 - 0.45 m helght

Dimensions (mm)

2260

Rated Impact Energy : 6400 Joule
Rated working angle : 45°

Post : RAL 8006, Jet black

Rall: RAL 1003, Signal yellow
Bolt: 8.8 grade M10 Expansion Bolt

24




FlexGuard

MS168
FLEXGUARD MID-SAFE

25



FlexGuard Mid-safe — MS168

1. Tools Required

Hammer Drill (®16mm)  Impact Driver(16mm) Vacuum Cleaner  Torque wrench (16mm)

Rubber Mallet Hammer Tape Measure Marker Allen Key (6mm)

connector

2X 4X
/?\}
&
8X 8X 8X

26



FlexGuard Mid-safe — MS168

3. Assemble

X ﬁ R -—

909008092,

ﬁ@l T L

)

@ o
K

27




FlexGuard Mid-safe — MS168




FlexGuard Mid-safe — MS168

4. Installatlon

ﬂLU

U {}
o o . ®16mm

©

o

Depth2110mm

ISR

29




FlexGuard Mid-safe — MS168

5. Dimensions

800

2148

2168

2260

Impact Zone
0.226 - 0.724 m height

Dimensions {(mm)

2260

Rated Impact Energy : 18000 Joule
Rated working angle : 46°

Post : RAL 9005, Jet black

Rall: RAL 1003, Signal yellow

Bolt: 8.8 grade M10 Expansion Bolt

30



FlexGuard

L$130
FLEXGUARD LO-SAFE

31



FlexGuard Low-safe — LS130

1. Tools Required

Hammer Drill (®16mm)  Impact Driver(16mm) Vacuum Cleaner  Torque wrench (16mm)

Rubber Mallet Hammer Tape Measure Marker Allen Key (6mm)

(e
1X 1X 2X X 2X
Y )
=)
=
2X 2X 2X 2X

32



FlexGuard Low-safe — LS130

3. Assemble

Same Steps

Other side

33




FlexGuard Low-safe — LS130

4

%
[ -2
—

4. Installation

|
I

e @

d16mm

&o

Depth2110mm

34




FlexGuard Low-safe — LS130

T
A\ 1

5. Dimensions

2100

2130

~Impact Zone
0.35 - 0.45 m height

2260

Dimensions (mm)

=260

Rated Impact Energy : 3860 Joule
Rated working angle : 46°

Post : RAL 8006, Jet black

Rall: RAL 1003, Signal yellow
Bolt: 8.8 grade M10 Expansion Bolt

35




FlexGuard

L5168
FLEXGUARD LO-SAFE

36



FlexGuard Low-safe — LS168

1. Tools Required

Hammer Drill (®16mm)  Impact Driver(16mm) Vacuum Cleaner  Torque wrench (16mm)

Rubber Mallet Hammer Tape Measure Marker Allen Key (6mm)

connector
e
o
2X 2X
=)
ax ax 8X

37



FlexGuard Low-safe — LS168

3. Assemble

e
I

38




FlexGuard Low-safe — LS168




FlexGuard Low-safe — LS168

4 InstaIIatlon

ﬂLU

U

y

o

©

d16mm

Depth2110mm

U=

B\

250Nm

40




FlexGuard Low-safe — LS168

5. Dimensions

2148

2168

7

0.226-0.374 m height 2

Dimensions (mm)

2260

Rated Impact Energy : 14400 Joule
Rated working angle : 46°

Post : RAL 9006, Jet black

Rall: RAL 1003, Signal yellow
Bolt: 8.8 grade M10 Expansion Bolt

41



FlexGuard




FlexGuard Anchor — AC110

1. Tools Required

Hammer Drill (®23mm) Impact Driver(12mm) Vacuum Cleaner

Tape Measure Extended Impact Socket (30mm) Cleaning brush
Length>2150mm
Air Pump Marker With Extension guide tube(<pl6mm)

Nylon sleeve

2X 2X

43



FlexGuard Anchor — AC110

3.Installation

GEO
—Lla A7

=

e  Depth2170mm

S o e ? . “’
@ 2 Waiting 12 hours
> -
l 290mm Outside

44



FlexGuard Anchor — AC110

45



FlexGuard Anchor — AC110

Waiting 36h fully fixed to ground

Other side (same steps)

46



FlexGuard Anchor — AC110

110

Impact Zone
0-0.11 m height

NI

[

o]

=100

Dimensions (mm)

110

Rated Impact Energy : 5800 Joule

Rated working angle : 90°

Rail : RAL 1003, Signal yellow

Bolt: 8.8 grade M20 Chemical Bolt
8.8 grade M16 Expansion Bolt

47



FlexGuard

FLEXGUARD ANCHOR

48



FlexGuard Anchor — AC190

1. Tools Required

Hammer Drill (®23mm) Impact Driver(12mm) Vacuum Cleaner

Tape Measure Extended Impact Socket (30mm) Cleaning brush
i Length>2150mm
Air Pump Marker With Extension guide tube(<pl6mm)

Nylon sleeve

|
N8 L

49



FlexGuard Anchor — AC190

3. Installation

C

®23mm

e  Depth2170mm

|
A
i

290mm Outside

Waiting 12 hours

50




FlexGuard Anchor — AC190

51



FlexGuard Anchor — AC190

Waiting 36h fully fixed to ground

Other side (same steps)

52



FlexGuard Anchor — AC190

190

Impact Zone
0-0.19 m height

[ o

2100

Dimensions (mm)

130

Rated Impact Energy : 5800 Joule

Rated working angle : 90°

Rail: RAL 1003, Signal yellow

Bolt: 8.8 grade M20 Chemical Bolt
8.8 grade M16 Expansion Bolt

53



FlexGuard

DG168
FLEXGUARD DOCKGATE

54



FlexGuard Dockgate - DG168

1. Tools Required

Hammer Drill (®16mm)  Impact Driver(16mm) Vacuum Cleaner  Torque wrench (16mm)

Rubber Mallet Hammer Tape Measure Marker Allen Key (5mm)

55



FlexGuard Dockgate - DG168

3. Assemble

56



FlexGuard Dockgate - DG168

Screw , Nut, Gasket

Tighten

57



FlexGuard Dockgate - DG168

YQ&: I I-
Tads .
= =
|

==

G
L




FlexGuard Dockgate - DG168

4. Installation

®16mm

&

Depth2110mm

L

59



FlexGuard Dockgate - DG168

i.‘é*l:".'f_a%
feer - - . .
il I i
[ ~
L
| E‘Z@%
|"| =
i f
| |
i i
I L
5. Dimensions
(0
| :| E
. o g = —
2270 !
% — w0 T‘
’ 2670 ' |

Close Open

60




FlexGuard Dockgate - DG168

2270

Impact Zone
0.4 - 0.568 m height

Dimensions (mm)

2168

250

2980

250

Rated Impact Energy : 10000 Joule
Rated working angle : 90°

Post : RAL 9005, Jet black

Rail : RAL 1003, Signal yellow

Bolt: 8.8 grade M10 Expansion Bolt

61



FlexGuard

ARBO/ARI00
Fl[XlillARIl ARMIIR

62



FlexGuard Armor — AR80/AR100

1. Preparation

/

Specialized tools
(The appearance is subject to the actual product)

2. Installation

N

Impact Rackshield —
FlexGuard Armor

63




FlexGuard Armor — AR80/AR100

|
\ A 5
|
/ — | | @ |
15
| ‘ | Y |
[
< e &
Remove Tools Adjust the position
3. Dimensions
Dimensions (mm)
80~100 ) 1
142 o} Impact Zone . 70
/ 0- 0.6 m height
/ ~
8 N
Rated Impact Energy : 1000 Joule
Rated working angle : 90°
Colour: RAL 1003, Signal yellow
E Installation : Quick Installation with specialized tools

142

bolt : No bolts needed

64



A SAFER TOMORROW
l SINCE 195 —>


http://www.aotons.com/
mailto:info@aotons.com
mailto:becky@aotons.com

	Slide 1
	Slide 2
	Slide 3: SL130 / SL168 FLEXGUARD SENTINEL
	Slide 4
	Slide 5
	Slide 6
	Slide 7: SL190 FLEXGUARD SENTINEL
	Slide 8
	Slide 9
	Slide 10
	Slide 11: HS130 FLEXGUARD HI-SAFE
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16: HS168 FLEXGUARD HI-SAFE
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22: MS130 FLEXGUARD MID-SAFE
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27: MS168 FLEXGUARD MID-SAFE
	Slide 28
	Slide 29
	Slide 30
	Slide 31
	Slide 32
	Slide 33: LS130  FLEXGUARD LO-SAFE
	Slide 34
	Slide 35
	Slide 36
	Slide 37
	Slide 38: LS168  FLEXGUARD LO-SAFE
	Slide 39
	Slide 40
	Slide 41
	Slide 42
	Slide 43
	Slide 44
	Slide 45
	Slide 46
	Slide 47
	Slide 48
	Slide 49
	Slide 50
	Slide 51
	Slide 52
	Slide 53
	Slide 54
	Slide 55
	Slide 56
	Slide 57
	Slide 58
	Slide 59
	Slide 60
	Slide 61
	Slide 62
	Slide 63
	Slide 64
	Slide 65
	Slide 66
	Slide 67

